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Exercise

1. If two identical coins are tossed

simultaneously. Find the possible outcomes.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4vIoCONGHoo6


2. If two identical coins are tossed

simultaneously. Find (a) the possible

outcomes, (b) the number of total outcomes,

(c) the probability of getting two heads, (d)

probability of getting atleast one head, (e)

probability of getting no heads and (f)

probability of getting only one head.

Watch Video Solution

https://dl.doubtnut.com/l/_4vIoCONGHoo6
https://dl.doubtnut.com/l/_o9i5rQnp9Gdx


3. 8 coins are tossed simultaneously. Find the

probability of getting at least 6 heads.

Watch Video Solution

4. If two identical coins are tossed

simultaneously. Find probability of getting at

least one head.

Watch Video Solution

https://dl.doubtnut.com/l/_RYNPmea4ls3J
https://dl.doubtnut.com/l/_q5o91peXyFPm


5. If two identical coins are tossed

simultaneously. Find (a) the possible

outcomes, (b) the number of total outcomes,

(c) the probability of getting two heads, (d)

probability of getting atleast one head, (e)

probability of getting no heads and (f)

probability of getting only one head.

Watch Video Solution

https://dl.doubtnut.com/l/_Z9hv6MBHPTSq


6. If two identical coins are tossed

simultaneously. Find (a) the possible

outcomes, (b) the number of total outcomes,

(c) the probability of getting two heads, (d)

probability of getting atleast one head, (e)

probability of getting no heads and (f)

probability of getting only one head.

Watch Video Solution

https://dl.doubtnut.com/l/_72mSYicsbGdm


7. (a) Write the probability of getting each

number on the top face when a die was rolled

in the following table. (b) Find the sum of the

probabilities of all outcomes.

Watch Video Solution

8. (a) Write the probability of getting each

number on the top face when a die was rolled

in the following table. (b) Find the sum of the

probabilities of all outcomes.

https://dl.doubtnut.com/l/_MbmdGNekYXD1
https://dl.doubtnut.com/l/_Eyv8xp11nZCr


Watch Video Solution

9. Find the probability of each event when a

die is rolled once 

Watch Video Solution

https://dl.doubtnut.com/l/_Eyv8xp11nZCr
https://dl.doubtnut.com/l/_yGSSEczJjXGI


10. A die has six faces numbered from 1 to 6. It

is rolled and the number on the top face is

noted. When this is treated as a random trial. 

a) What are the possible outcomes ? 

b)Are they equally likely? Why? 

c) Find the probability of a composite number

turning up on the top face.

Watch Video Solution

https://dl.doubtnut.com/l/_yGSSEczJjXGI
https://dl.doubtnut.com/l/_OimscBnA1S4U


11. A die has six faces numbered from 1 to 6. It

is rolled and the number on the top face is

noted. When this is treated as a random trial. 

a) What are the possible outcomes ? 

b)Are they equally likely? Why? 

c) Find the probability of a composite number

turning up on the top face.

Watch Video Solution

https://dl.doubtnut.com/l/_9M32xKp5kSuY


12. A die has six faces numbered from 1 to 6. It

is rolled and the number on the top face is

noted. When this is treated as a random trial. 

a) What are the possible outcomes ? 

b)Are they equally likely? Why? 

c) Find the probability of a composite number

turning up on the top face.

Watch Video Solution

https://dl.doubtnut.com/l/_9GKVwtBLZUr9


13. A coin is tossed 100 times and the

following outcomes are recorded 

Head:45 times Tails:55 times from the

experiment 

a) Compute the probability of each outcomes. 

b) Find the sum of probabilities of all

outcomes.

Watch Video Solution

https://dl.doubtnut.com/l/_45gl5OPbc1G6


14. A coin is tossed 100 times and the

following outcomes are recorded 

Head:45 times Tails:55 times from the

experiment 

a) Compute the probability of each outcomes. 

b) Find the sum of probabilities of all

outcomes.

Watch Video Solution

https://dl.doubtnut.com/l/_UKKLRmryCZUb


15. A bag contains five green marbles, three

blue marbles, two red marbles, and two yellow

marbles. One marble is drawn out randomly. 

a) Are the four different colour outcomes

equally likely? Explain. 

b) Find the probability of drawing each colour

marble 

i.e. , P(green), P(blue), P(red) and P(yellow) 

c) Find the sum of their probabilities.

Watch Video Solution

https://dl.doubtnut.com/l/_ZId3XKPw1ZKv
https://dl.doubtnut.com/l/_cqdwemy8Fhdz


16. A bag contains five green marbles, three

blue marbles, two red marbles, and two yellow

marbles. One marble is drawn out randomly. 

a) Are the four different colour outcomes

equally likely? Explain. 

b) Find the probability of drawing each colour

marble 

i.e. , P(green), P(blue), P(red) and P(yellow) 

c) Find the sum of their probabilities.

Watch Video Solution

https://dl.doubtnut.com/l/_cqdwemy8Fhdz


17. A bag contains five green marbles, three

blue marbles, two red marbles, and two yellow

marbles. One marble is drawn out randomly. 

a) Are the four different colour outcomes

equally likely? Explain. 

b) Find the probability of drawing each colour

marble 

i.e. , P(green), P(blue), P(red) and P(yellow) 

c) Find the sum of their probabilities.

Watch Video Solution

https://dl.doubtnut.com/l/_9j1rZycJgiXv
https://dl.doubtnut.com/l/_jhaWOGP6k8wc


18. A letter is chosen from English alphabet.

Find the probability of the letters being 

a) A vowel b) a letter that comes after P 

c) A vowel or a consonant d) Not a vowel

Watch Video Solution

19. A letter is chosen from English alphabet.

Find the probability of the letters being 

a) A vowel b) a letter that comes after P 

c) A vowel or a consonant d) Not a vowel

Watch Video Solution

https://dl.doubtnut.com/l/_jhaWOGP6k8wc
https://dl.doubtnut.com/l/_WYfCbHCZEVl0


20. A letter is chosen from English alphabet.

Find the probability of the letters being 

a) A vowel b) a letter that comes after P 

c) A vowel or a consonant d) Not a vowel

Watch Video Solution

21. A letter is chosen from English alphabet.

Find the probability of the letters being 

a) A vowel b) a letter that comes after P 

c) A vowel or a consonant d) Not a vowel

https://dl.doubtnut.com/l/_WYfCbHCZEVl0
https://dl.doubtnut.com/l/_qg0Bd2hnPpAS
https://dl.doubtnut.com/l/_eJJGYJxzi7jf


Watch Video Solution

22. Eleven bags of wheat flour, each marked 5

kg, actually contained the following weights of

flour (in kg) : 4.97, 5.05, 5.08, 5.03, 5.00, 5.06,

5.08, 4.98, 5.04, 5.07, 5.00 Find the probability

that any of these bags chosen at random

contains more than 5 kg of flour.

Watch Video Solution

https://dl.doubtnut.com/l/_eJJGYJxzi7jf
https://dl.doubtnut.com/l/_2z6SOEzQftLa


23. The probability is sure event is

Watch Video Solution

24. The probability of an impossible event is

Watch Video Solution

25. Define 'Equally likely outcomes'.

Watch Video Solution

https://dl.doubtnut.com/l/_Ki7LrvJHRJru
https://dl.doubtnut.com/l/_M5vbeLMReiqu
https://dl.doubtnut.com/l/_aFvMkYppzLJI


26. When you roll a die, What are the six

possible outcomes?

Watch Video Solution

27. If you try to start a scooter , What are the

possible outcomes?

Watch Video Solution

https://dl.doubtnut.com/l/_JgJXFvtBQMQO
https://dl.doubtnut.com/l/_NNLcD6wof2MS


28. Write all the possible outcomes it three

coins are tossed simultaneously.

Watch Video Solution

29. A letter is chosen from English alphabet.

Find the probability of the letters being 

a) A vowel b) a letter that comes after P 

c) A vowel or a consonant d) Not a vowel

Watch Video Solution

https://dl.doubtnut.com/l/_sgtsdrv7yEWv
https://dl.doubtnut.com/l/_IllMbUpQhNER
https://dl.doubtnut.com/l/_g8wdLFRfdwRC


30. In An N.C.C. camp, there are 40 boys and 30

girls. The best cadet is to be chosen. What is

the probability that the best cadet is a girl ?

Watch Video Solution

31. If A is an event such that P(A) = 0.45. then

find P(not A).

Watch Video Solution

https://dl.doubtnut.com/l/_g8wdLFRfdwRC
https://dl.doubtnut.com/l/_IMIvcnJlP2tW


32. If the probability of winning a game is 0.9,

what is the probability of loosing it?

Watch Video Solution

33. A box contains 100 electric bulbs. Out of

them, 10 are defective bulbs. One bulb is taken

out at random from this box. What is the

probability that it is a non-defective bulb?

Watch Video Solution

https://dl.doubtnut.com/l/_8WtKi7eHKfiy
https://dl.doubtnut.com/l/_pTquCBgyI0Ch
https://dl.doubtnut.com/l/_SUpaIxVbj6Uc


34. Write one of the uses of probability in real

life ?

Watch Video Solution

35. Define an 'event'.

Watch Video Solution

36. Write the words used in daily life to show

the manner of chance and judgement.

https://dl.doubtnut.com/l/_SUpaIxVbj6Uc
https://dl.doubtnut.com/l/_AMVJ0F5guGkH
https://dl.doubtnut.com/l/_Juxw4t5DzVlL


Watch Video Solution

37. When you 'roll a die, find the probability of

a composite number turning up on the top

face.

Watch Video Solution

38. A coin is tossed 3 times and the outcomes

are recorded. How many possible﻿ outcomes

are there?﻿

Watch Video Solution

https://dl.doubtnut.com/l/_Juxw4t5DzVlL
https://dl.doubtnut.com/l/_GSicLyqqnJXX
https://dl.doubtnut.com/l/_QI76PuSAHVPL


39. If a coin is tossed three times, the total

number of outcomes.

Watch Video Solution

40. If a coin is tossed three times, the

probability of getting three heads.

Watch Video Solution

https://dl.doubtnut.com/l/_QI76PuSAHVPL
https://dl.doubtnut.com/l/_lw5oSIcYwhZm
https://dl.doubtnut.com/l/_6YAF84lkv74O


41. A bag contains 4 identical red balls and 3

identical black balls. A ball is taken at random.

What is the probability that the ball drawn is

black?

Watch Video Solution

42. In a simultaneous throw of two coins, find

the probability of getting exactly two heads

Watch Video Solution

https://dl.doubtnut.com/l/_QG21Ui4zAwBF
https://dl.doubtnut.com/l/_e9qfTgMqmzSX
https://dl.doubtnut.com/l/_EjAq1DuSxFdG


43. In a simultaneous throw of two coins, find

the probability of getting at least one tail.

Watch Video Solution

44. A perfect cubic die is thrown, find the

probability of getting a number greater than

or equal to 3?

Watch Video Solution

https://dl.doubtnut.com/l/_EjAq1DuSxFdG
https://dl.doubtnut.com/l/_ey5ICZ3WmkQO


45. You find "Rainbow" in the sky with different

colours. What is the probability that one of its

colours being black?

Watch Video Solution

46. A letter is chosen from the word

"DICTIONARY". Find the probability of the

letter being a letter comes after "L".

Watch Video Solution

https://dl.doubtnut.com/l/_z7UdSVipVEbP
https://dl.doubtnut.com/l/_lpjX3bwuDf4P
https://dl.doubtnut.com/l/_5T63VyMwQ6xy


47. There are four men and six women on the

city council. If one council member is selected

for a committee at random, how likely is it that

it is a women?

Watch Video Solution

48. Tickets numbered from 1 to 18 are mixed

up and then a ticket is drawn at random. What

is the probability that the ticket drawn has a

prime number.

Watch Video Solution

https://dl.doubtnut.com/l/_5T63VyMwQ6xy
https://dl.doubtnut.com/l/_O50ojO3PD8l9


49. Getting a 'head' when an unbiased coin is

tossed is

A. less likely

B. equally likely

C. more likely

D. certain

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_O50ojO3PD8l9
https://dl.doubtnut.com/l/_NSC9MuxRMACY


50. When a die is thrown, getting a number

more than 6 is

A. less likely

B. equally likely

C. more likely

D. impossible

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NSC9MuxRMACY
https://dl.doubtnut.com/l/_s9QNMcENDanT
https://dl.doubtnut.com/l/_CktAto9N89oj


51. The number of possible outcomes when a

die is thrown is

A. 1

B. 4

C. 6

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CktAto9N89oj
https://dl.doubtnut.com/l/_WRpSFeO0O9ev


52. When two dice are thrown, the total

outcomes are

A. 12

B. 6

C. 1

D. 36

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WRpSFeO0O9ev


53. When a coin is tossed, the total possible

outcomes are

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JNErcf5pyj4w
https://dl.doubtnut.com/l/_HUHrjgKg9xSW


54. The experiment in which all possible

outcomes are known but exact outcome can't

be predicted is called

A. Random experiment

B. Trial

C. Even

D. Outcome

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HUHrjgKg9xSW
https://dl.doubtnut.com/l/_3PhWcRn9vRYV


55. The each outcome of a Random experiment

is called

A. event

B. trial

C. chance

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3PhWcRn9vRYV


56. The probability of getting a head when a

coin is tossed once is…………..

A. 1

B. 

C. 

D. 

Answer:

Watch Video Solution

1

4

1

2

1

8

https://dl.doubtnut.com/l/_AjPt3LTJMPLa
https://dl.doubtnut.com/l/_walOrVzERqVZ


57. Six coins are tossed simultaneously . The

probability of getting at least 4 heads is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

4

1

6

1

8

https://dl.doubtnut.com/l/_walOrVzERqVZ


58. What is the probability of getting exactly

two heads, when three coins tossed

simultaneously?

A. 

B. 8

C. 

D. `3/8

Answer:

Watch Video Solution

1

8

7

8

https://dl.doubtnut.com/l/_Q3o0T3UROmep


59. If two coins are tossed, the chance of

getting no heads is

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

3

4

1

4

1

2

https://dl.doubtnut.com/l/_AGoU17vy7ZyM
https://dl.doubtnut.com/l/_atNyL6cZ4Tjf


60. Sum of the probabilities of getting a head

and a tall when an unbiased cotn is tossed is

A. 

B. 

C. 1

D. 0

Answer:

Watch Video Solution

1

2

1

4

https://dl.doubtnut.com/l/_atNyL6cZ4Tjf


61. Sum of probabilities of getting an even

number and an odd number when a die is

rolled in

A. 

B. 

C. 

D. 1

Answer:

Watch Video Solution

1

2

1

6

1

3

https://dl.doubtnut.com/l/_t9B6SFnVu19r


62. The sum of the probabilities of all out

comes of a Random experiment is always

A. 0

B. -1

C. 1

D. 

Answer:

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_j24UQnNgxwCi
https://dl.doubtnut.com/l/_RwAyi5jWq7s8


63. The probability is sure event is

A. 0

B. 1

C. -1

D. can't say

Answer:

Watch Video Solution

64. The probability of an impossible event is

https://dl.doubtnut.com/l/_RwAyi5jWq7s8
https://dl.doubtnut.com/l/_Xh9xStz12vcD


A. 0

B. -1

C. 1

D. 2

Answer:

Watch Video Solution

65. Probability of an event lies between

……….and…………..

https://dl.doubtnut.com/l/_Xh9xStz12vcD
https://dl.doubtnut.com/l/_VtXeOgNrEUnI


A. 1 and 2

B. -1 and 1

C. -1 and 0

D. 0 and 1

Answer:

Watch Video Solution

66. The probability of drawing a prime number

from a pack of cards numbered from 1 to 10

https://dl.doubtnut.com/l/_VtXeOgNrEUnI
https://dl.doubtnut.com/l/_wZkS8rca3rlZ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

10

1

10

5

10

2

5

67. The probability of "the last day of a month

is Sunday"

https://dl.doubtnut.com/l/_wZkS8rca3rlZ
https://dl.doubtnut.com/l/_u6IvPrhSfBzG


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

7

1

7

3

7

4

7

68. When a die is thrown, equally likely events

are getting

https://dl.doubtnut.com/l/_u6IvPrhSfBzG
https://dl.doubtnut.com/l/_qGFqzdqvubDQ


A. even number and odd number

B. prime and composite

C. multiple of 3 and multiple of 2

D. number less than 3 and number greater

than 3

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_qGFqzdqvubDQ


69. Which of the following cannot be the

probability of an event ?

A. 0.9

B. -1.5

C. 0.1

D. 

Answer:

Watch Video Solution

2/5

https://dl.doubtnut.com/l/_0aholFgHXH1e
https://dl.doubtnut.com/l/_16aJjpA2GycZ


70. A letter is chosen at random from the word

"ROSE". Find the probability that the letter

chosen is a vowel.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

4

3

4

1

2

2

5

https://dl.doubtnut.com/l/_16aJjpA2GycZ
https://dl.doubtnut.com/l/_N280gv4HVBFK


71. Two coins are tossed simultaneously. 'What

is the number of all outcomes ?

A. 3

B. 4

C. 2

D. 1

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_N280gv4HVBFK


72. Three coins are tossed simultaneously.

What is the number of all possible outcomes?

A. 8

B. 6

C. 4

D. 2

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_rfjJgg1R2chS
https://dl.doubtnut.com/l/_YzHA1ljJKJ4U


73. The probability winning a prize is

A. 0

B. 

C. 2

D. 1

Answer:

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_YzHA1ljJKJ4U


74. If probability of a certain event A is P(A) = x,

then P'(A) is

A. 

B. 

C. 

D. 1-x

Answer:

Watch Video Solution

− 1
1

x

1 −
1

x

1

x

https://dl.doubtnut.com/l/_weyIXd1TJnKt
https://dl.doubtnut.com/l/_CaSttTrmpJ8m


75. A die is thrown once. Find the probability

of getting a number less than 3

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

2

1

3

1

4

1

6

https://dl.doubtnut.com/l/_CaSttTrmpJ8m


76. Which of the following is true ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0 ≤ P (A) ≤ 1

P (A) > 1

P (A) < 0

−1 ≤ P (A) ≤ 1

https://dl.doubtnut.com/l/_FOZ7AeP5e9dN

